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 !" 621.431.75 : 658.589 

 .!. "#$%&'(, ).*. +,-,(#$,(#

 !"#$%&' ()$*+,"$-.!//0' -!1/&2!$%&' */&.!"$&-!-

./0"10/*!21 " 3!214"/* )50!*6 217

2!)82/-9 3218 :+1" 0!4*191 " 50 ;501791<

!*1!;*1=!9 6 :90/ 217 2! 0 =1/2!6>2/" )0/*2 

* ):6/*173 "/; 0214!?11 @+/2/"1+1

 ").!+!/ ,/,3&4 &4#!/!/&5 )"(,/&4,6&)//)-7%)/)#&2!$%)() #!1,/&4#, *8",.3!/&5 /,*2/)-

-!1/&2!$%&# ",4.&-&!# ,.&,+.&(,-!3!$-")!/&5 . 9: 8"& 8!"!1)+! % "0/)2/0# *$3).&5# ;*/%6&)-

/&").,/&5 )-",$3&, , -,%<! ,/,3&4 /,*2/)--!1/&2!$%)() $)$-)5/&5 )-",$3&. =8"!+!3!/, 8")>3!#,

/,*2/)--!1/&2!$%)() )-$-,.,/&5 )- 4,"*>!</01 8"!+8"&5-&', 8"!+3)<!/0 "!?!/&5 8")>3!#0 . 2,$-

-& ;)"#&").,/&5 /).)() )"(,/&4,6&)//)-7%)/)#&2!$%)() #!1,/&4#, *8",.3!/&5 &//).,6&)//0#

",4.&-&!# 8"!+8"&5-&5 /, "!(&)/,3@/)# *")./!.

A3B2!.0! $3).,:  !"# $-%&' (#&)*$& +!,-(%(& !-(!.-(/!%&0&)%+$& (1, *$ *"+& % $)%2,

(  $-!3($  $& +!,-(%(& 4+&.4+(1%(1, $+/! (,!3($  $-5*$ $6(#&)*(7 6&'! (,6 "4+!-0& (1, -"-

,$-)*!1 ( !*!.&6(#&)*!1  !"*!, +&/($ !02 !1 )%+!%&/(1.

# $%&' ($()(*( *+(,(&%-%.+$/(*( ,(&(0+1%2 3($$%4$/(4 5+6+789%%, ++

)(&:;(4 -+77%-(7%% % ,7(-20+11($-% *781%9, 1+()<(6%=($-: > 8>%89%%, ()+$-

,+.%>8?@+4 $(9%8&:1(-A/(1(=%.+$/(+ 78B>%-%+ $-781C % =()%&:1($-: *780681,

>C$(/8. # 18.8&+ ,($-$(>+-$/(*( ,+7%(68 ,87/ $8=(&+-(> > 3($$%% ,(.-% 9+&%-

/(= (18 98 %) $($-(2& %B /(1/'7+1-1C< =8;%1 (-+.+$->+11(*( ,7(%B>(6$->8.

D-+.+$->+1182 8>%8,7(=C;&+11($-: % 6>%*8-+&+$-7(+1%+, /8/ ++ ($1(>182 $(-

$-8>&2?@82, 18%)(&++ 6%18=%.1( 78B>%>8&%$: > 1960–1980-+ *(6C, +0+*(61(

,7(%B>(62 $>C;+ 150 =8*%$-78&:1C<, 7+*%(18&:1C< % *7'B(>C< $8=(&+-(>, )(&++

620 $8=(&+-(> % 390 >+7-(&+-(> >(+11(*( 18B18.+1%2. !( 26 % $8=(&+-1(*( ,87-

/8 8>%8/(=,81%4 =%78 $($-8>&2&% $8=(&+-C (>=+$-%=($-:? )(&++ 30 ,8$$80%-

7(>) $(>+-$/(*( ,7(%B>(6$->8. E8 A/$,(7- +0+*(61( ,($-8>&2&($: $>C;+ 120 >(-

+11C< $8=(&+-(> % >+7-(&+-(>, ($18@+11C< (-+.+$->+11C=% 6>%*8-+&2=%. F(

=8$;-8)8= G%181$%7(>81%2 (-78$&: B81%=8&8 ,+7>(+ =+$-(, 8 >&(0+1%2

> EHD"3 )C&% $(,($-8>%=C $ =%7(>C= '7(>1+= [1].  

!( 18.8&8 1990-< *(6(> 8>%86>%*8-+&+$-7(+1%+, /8/ $($-8>&2?@82 8>%8-

,7(=8, 18<(6%&($: ,(6 9+1-78&%B(>811C= ',78>&+1%+= *($'687$->8, .-( ()+$,+-

.%>8&( B8=/1'-C4 9%/& 78B78)(-/%, ,7(%B>(6$->8 % >1+67+1%2 $(>7+=+11(4 -+<-

1%/% >+6'@+*( ,(/(&+1%2. I%18>%8,7(= JJJ3 ,7+6$-8>&2& $()(4 /7',1+4;'?

> =%7+ /(7,(78-%>1'? $-7'/-'7' 8>%8,7(=C;&+11($-%. K+1-78&%B89%2 ',78>-

&+1%2, 0+$-/82 ,7%>2B/8 ,7+6,7%2-%4 /( >$+= A-8,8= 0%B1+11(*( 9%/&8, 'B/82
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$,+9%8&%B89%2 ,7+6,7%2-%4, >C$(/%4 '7(>+1: /((,+789%% % +$-+$->+1182 =(1(-

,(&%2 ()+$,+.%>8&% ='&:-%,&%/8-%>1C4 AGG+/- > 78B>%-%% 1+ -(&:/( >$+*(

8>%89%(11(*( /(=,&+/$8, 1( % $=+01C< (-78$&+4, -8/%< /8/ A&+/-7(1%/8, 786%(-

,7(=C;&+11($-:, =+-8&&'7*%2, <%=%2 % -.,.

L($'687$->( G%181$%7(>8&( B8 $.+- $7+6$-> )?60+-8 18'.1(-%$$&+6(-

>8-+&:$/%+ 9+1-7C 8>%89%(11(4 ,7(=C;&+11($-% % ($'@+$->&2&( ,(66+70/'

(-78$&% ,( $&+6'?@%= 18,78>&+1%2=:

− ,72=(+ )?60+-1(+ G%181$%7(>81%+ *($'687$->+11C< 9+&+>C<, %1>+$-%9%-

(11C< ,7(*78== (/(1>+7$%(11C<) % ,(66+7081%+ =()%&%B89%(11C< =(@1($-+4;

− ,7+6($-8>&+1%+ &:*(-1C< %1>+$-%9%(11C<, /(1>+7$%(11C< % 18&(*(>C<

/7+6%-(> > >%6+ ($>()(06+1%2 (- ',&8-C 18&(*(>, >/&?.82 -8=(0+11C+ ,(;&%-

1C, $>2B811C+ $ >C>(B%=C=% % >>(B%=C=% -(>878=%;

− ,7+6($-8>&+1%+ *($'687$->+11C< *8781-%4 ,(6 /7+6%-C /(==+7.+$/%<

)81/(> [3, c. 215–232].  

# G(7=8-+ $&(0%>;+*($2 *($'687$->+11(*( ',78>&+1%2 (-78$&:? (-+.+$--

>+11(+ 8>%86>%*8-+&+$-7(+1%+ 6(&*(+ >7+=2 B81%=8&( &%6%7'?@++ ,(&(0+1%+

> =%7(>(4 8>%89%%. E8;% 6>%*8-+&% ,()+068&% 18 >$+< >+6'@%< =%7(>C< 8>%8-

$8&(18<. #( =1(*(= A-%= 6($-%0+1%2= $,($()$->(>8&8 AGG+/-%>182 (7*81%B89%-

(11(-A/(1(=%.+$/82 $-7'/-'78 ',78>&+1%2 18'.1C= 78B>%-%+= (-78$&%.

# 18.8&+ 80-< *(6(> > (-+.+$->+11(= 6>%*8-+&+$-7(+1%% )C&% 78B>+71'-C

78)(-C ,( $(B681%? 18'.1(--+<1%.+$/(*( B86+&8 (EMN), 9+&% /(-(7C< 1+ '$-',8-

&% B87')+01C= ,7(*78==8=. M+= 1+ =+1++ $(B6811C4 781++ ,7(%B>(6$->+11(-

-+<1(&(*%.+$/%4 % 18'.1C4 ,(-+19%8& $+*(612 ,78/-%.+$/% %$.+7,81. 3($$%4-

$/%+ 8>%89%(11C+ 6>%*8-+&% ,+7+0%>8?- *&')(/%4 /7%B%$ /(1/'7+1-($,($()1(-

$-%. E+<>8-/8 $()$->+11C< $7+6$-> % (-$'-$->%+ *($'687$->+11(4 ,(66+70/%

%=+11( > -(= $+/-(7+, *6+ A-( 1+()<(6%=( ,7+06+ >$+*(, 1($2- <878/-+7 >C1'0-

6+11(*( $>+7-C>81%2 8>%89%(11(4 18'/% % ,7(%B>(6$->8, .-( ()'$&(>%&( 1878$-

-8?@++ -+<1(&(*%.+$/(+ % -+<1%.+$/(+ (-$-8>81%+ (-+.+$->+11(*( 8>%86>%*8-+-

&+$-7(+1%2 (- &'.;%< B87')+01C< 818&(*(>.

5%181$%7(>81%+ 18'.1C< 78)(- $( $-(7(1C I%1()(7(1C $(/78-%&($: ,(

$78>1+1%? $ 1993 *(6(= > 5 78B, .-( ,7%>+&( / $'@+$->+11(=' (-$-8>81%? > $(B-

681%% )8B(>(*( 6>%*8-+&2 V ,(/(&+1%2 % ()'$&(>%&( /7841+ 1%B/%+ -+=,C ,7(-

>+6+1%2 78)(- ,( EMN 6&2 6>%*8-+&+4 VI ,(/(&+1%2. M8/%= ()78B(=, 18; ,87%-+-

> ()&8$-% $+7%41C< 6>%*8-+&+4 > 18$-(2@++ >7+=2 )8B%7'+-$2 > ($1(>1(= 18 EMN

80-< *(6(> [4]. 

# $(>+-$/(+ >7+=2 )C& 78B78)(-81 726 =(6+&+4 (7*81%B89%% ,7(=C;&+1-

1(*( ,7(%B>(6$->8 > 6>%*8-+&+$-7(+1%%. O+B'$&(>1(, 6811C+ =+-(6C 78)(-8&%

AGG+/-%>1( > '$&(>%2< /(=8161(-86=%1%$-78-%>1(4 A/(1(=%.+$/(4 $%$-+=C, >(

=1(*(= $,($()$->'2 7($-' 18'.1(*( ,(-+19%8&8 (-78$&%. D7*81%B89%(1182

$-7'/-'78 8>%89%(11(4 ,7(=C;&+11($-% JJJ3 ,7+6$-8>&+18 18 7%$. 1. 
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3%$. 1. D7*81%B89%(1182 $-7'/-'78 ',78>&+1%2 8>%89%(11(4 ,7(=C;&+11($-:? JJJ3

# 1990-+ *(6C $%-'89%2 /876%18&:1( %B=+1%&8$:. F7(>+6+1182 ,7%>8-%B8-

9%2 8>%89%(11(4 (-78$&% ,( G8/-' > ($1(>1(= 7+;8&8 -(&:/( ,7()&+=' 78B6+&8

$()$->+11($-%, 8 1+ ,(>C;+1%2 AGG+/-%>1($-% G'1/9%(1%7(>81%2 (-78$&%.

# 7+B'&:-8-+ ,7%>8-%B89%% $+*(612 > '$&(>%2< 7C1(.1(4 A/(1(=%/% 8>%86>%*8-

-+&+$-7(+1%+ ,78/-%.+$/% $(<781%&( 18 7+*%(18&:1(= '7(>1+ (7*81%B89%(11'?

$-7'/-'7' $(9%8&%$-%.+$/(4 A/(1(=%/%. P+ $<+=8 ,7+6$-8>&+18 18 7%$. 2. 

J&(0%>;82$2 $+*(612 $-7'/-'78 (-78$&% 1+ ,(B>(&2+- ()+$,+.%-: +6%1'?

-+<1(&(*%.+$/'? 9+,(./' ,( 78B78)(-/+, ($>(+1%? % ,7(%B>(6$->' 6>%*8-+&+4

78B&%.1C< /&8$$(>. #(B=(01($-: ()+$,+.+1%2 +6%1$->8 -+<1(&(*%.+$/(*( ,7(-

9+$$8 $(B681%2 8>%8-+<1%/% 2>&2+-$2 1+()<(6%=C= '$&(>%+= *&()8&:1(4 /(1/'-

7+1-($,($()1($-%.

F7(9+$$ &%/>%689%% 9+1-78&%B(>811(4 $%$-+=C 86=%1%$-78-%>1(*(

% A/(1(=%.+$/(*( ',78>&+1%2 8>%8,7(=C;&+11($-:? )C& B8>+7;+1 ',78B61+1%-

+= I%1%$-+7$->8 ()(7(11(4 ,7(=C;&+11($-% 3($$%% '/8B(= F7+B%6+1-8 35 ((-

17.03.97 *. Q249). # -( 0+ >7+=2 1(>C+ =+<81%B=C 7+*'&%7(>81%2 (-78$&% $ '.8-

$-%+= *($'687$->8 $(B681C 1+ )C&% (> .8$-1($-%, A-( /8$8+-$2 6(&*($7(.1(4

$-78-+*%% /(=,&+/$1(*( 78B>%-%2 (-78$&%). R-( ,7%>+&( / ,(-+7+ >C$(/(/>8&%-

G%9%7(>811C< /867(>, ,7+06+ >$+*( > 18'.1(--+<1%.+$/(= $+/-(7+, % 78$.&+1+-

1%? '1%/8&:1C< ,7(=C;&+11C< /(=,&+/$(> 18 (-6+&:1C+ =(1(,(&%% ,( ,7(%B-

>(6$->' /(=,&+/-'?@%< %B6+&%4 % =8-+7%8&(>, 78B7';%> -+= $8=C=, $&(0%>-

;%+$2 =+06' ,7+6,7%2-%2=% <(B24$->+11C+ $>2B%.

# 7+B'&:-8-+ ,7(>+6+11C< 7+G(7= 3($$%4$/82 5+6+789%2, '18$&+6(>8> 214 

,7+6,7%2-%4, > 1999 *(6' ,7(%B>+&8 -(&:/( 9 *780681$/%< % 21 >(+11C4 $8=(&+-

(%B /(-(7C< 18 A/$,(7- )C&% ,($-8>&+1C 2 $8=(&+-8 % 21 $8=(&+- $((->+-$->+1-

1(), > 2005 *(6' – 8 $8=(&+-(>, 8 > 2008 *(6' – 13 [5]. 
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5*!3*!"?$6 

«@=*!*.3!*4»

(#'"7&'(-&)0"6

 0*43".$6)

@<@ «+ @ 

«A"%,!.»

93,52 %

@<@ «2*)-

0*#)0*& 4"B$-

.*)%!*$%&'(.*& 

3!&73!$6%$& 

$4. 8.8. C&!.9-

B&#"»

89,81 %

@<@ «5'$4*#»

100 %

@<@ «D3!"#'6EF"6 

0*43".$6 

«@=G&7$.&.."6 

7#$;"%&'&)%!*$%&'(."6 

0*!3*!"?$6» 

100 %

@<@ « &!4)0$1 

4*%*!.91 H"#*7» 

74,99 %

@<@ «DI$4)0*& 

4*%*!*)%!*$-

%&'(.*& 3!*$H-

#*7)%#&..*& 

*=G&7$.&.$&»

83,27 % 

@<@ «A"4"!)0$1 

.",-.*-%&/.$-

-&)0$1 0*43'&0)

 $4. +.:. 5,H.&-

?*#"» 

81,64 %

@<@ «5,H.&?*#» 

59,46 %

@<@

«<#$"7#$-

;"%&'(» 56,7 % 

@<@ «AJ<K»

60 %

@<@ «A5L2»

79,01 %

@<@ «5!").91 

*0%6=!(»

25,5 %

@<@

«2&%"''$)%-

A"4"!"»

25,67 %

@<@ 

«+   «2*%*!»

100 %

@<@ « &!4)0*& 

";!&;"%.*& 

*=G&7$.&.$& 

«M.0"!» 

14,95 %

@<@ 

« &!4)0$& 

4*%*!9»

51,52 %

@<@ « *#*'N)0$1 

"#$"?$*..91 

%&/.*'*;$-&)0$1 

$.)%$%,%»

63 % 

3%$. 2. D7*81%B89%(1182 $-7'/-'78 DSD «D)(7(1,7(=»

J+*(612 6(&2 %=,(7-8 > $-7'/-'7+ $(>(/',1(*( 8>%8,87/8 '>+&%.%&8$: 6(

50 % [2, c. 19]. # -8/(4 $%-'89%% $-7+=%-+&:1( $(/78@8+-$2 >1'-7+11%4 7C1(/

8>%89%(11C< 6>%*8-+&+4 % '$&'* ,($&+,7(6801(*( ()$&'0%>81%2. J8=(&+-C B8-

7')+01(*( ,7(%B>(6$->8, A/$,&'8-%7'+=C+ > 7($$%4$/%< 8>%8/(=,81%2<, $+*(-

612 18<(62-$2 > 78=/8< *8781-%41(*( % ,($-*8781-%41(*( ()$&'0%>81%2 G%7=8-

=%-,7(%B>(6%-+&2=%, .-( ,( '$&(>%? 6(*(>(7(> ,(/',/% % &%B%1*8 1+ ,(B>(&2+-



121

(-+.+$->+11C= =(-(7($-7(%-+&2= '$-818>&%>8-: 18 6811C+ $8=(&+-C 6>%*8-+&%

(-+.+$->+11(*( ,7(%B>(6$->8. M8/%= ()78B(=, $+*(612 G8/-%.+$/% ($'@+$->&2-

+-$2 G%181$%7(>81%+ B8,861C< ,7(%B>(6%-+&+4 B8 $.+- )?60+-8 3($$%4$/(4 5+-

6+789%%, $(B68?-$2 '$&(>%2 6&2 A/$,81$%% 7($$%4$/(*( 7C1/8 8>%8-+<1%/%,

$>+7-C>81%2 (-+.+$->+11(4 8>%89%(11(4 ,7(=C;&+11($-%, .-( G(7=%7'+- ()T-

+/-%>1'? '*7(B' 1+ -(&:/( -+<1(&(*%.+$/(4 $8=($-(2-+&:1($-% $-781C, 1( % '$-

-(4.%>(=' 78B>%-%? 189%(18&:1(4 A/(1(=%/%.

F( ,7%.%1+ 7+B/(*( ,86+1%2 '7(>12 *($'687$->+11C< %1>+$-%9%4 > =(6+7-

1%B89%? ,7(%B>(6$->+11(--+<1(&(*%.+$/(4 )8BC, 9+1-78&%B(>811(*( G%181$%-

7(>81%2 EHD"3, $,7($8 %, /8/ $&+6$->%+, ,7+6&(0+1%2 >(B6';1C< $'6(>, 18.8&(

$(/78@8-:$2 % ,7(%B>(6$->( 8>%89%(11C< 6>%*8-+&+4 6&2 $8=(&+-(> % >+7-(&+-

-(>. # DSD «F+7=$/%+ =(-(7C» ()T+= >C,'$/8 $8=(&+-1C< % >+7-(&+-1C< 6>%-

*8-+&+4 $(/78-%&$2 $ 476 (> -(= .%$&+ M#2–117SL – 332 ;-., FJ-90S – 37 ;-.) 

> 1992 *(6', 6( 3 6>%*8-+&+4 FJ-90S > 1998 *(6' % 1 6>%*8-+&2 > 2003 *(6'.

# 18$-(2@++ >7+=2 1(>C< 6>%*8-+&+4 B8>(6 1+ >C,'$/8+-, 8 '1%/8&:1C4 ,7(%B-

>(6$->+11C4 /(=,&+/$, $()%78>;%4 1+ %=+?@%4 818&(*(> 18 7($$%4$/(= 7C1/+

6>%*8-+&: ($+=+4$->8 FJ), ,7+>78-%&$2 > 7+=(1-1'? )8B'.

F7(6'/9%2 (-+.+$->+11(*( 6>%*8-+&+$-7(+1%2 ,7(%*7C>8+- ,( /8.+$->'

=%7(>C= 818&(*8=. F878=+-7C 186+01($-% (-+.+$->+11C< =(-(7(> 18<(62-$2 18

6($-8-(.1( 1%B/(= '7(>1+ /(1/'7+1-($,($()1($-%. I8&82 1878)(-/8 7($$%4$/(-

*( 6>%*8-+&2 18 $T+= )C&8 >CB>818 %$/&?.%-+&:1( /(1$-7'/-%>1(-,7(%B>(6$--

>+11C=% 1+6($-8-/8=%. E8,7%=+7, &%6%7'?@%4 6>%*8-+&: FJ-90S 6( ,+7>(*(

$T+=8 1878)8-C>8+- 7800 ., -(*68 /8/ &%6%7'?@%4 6>%*8-+&: (818&(* FJ)

R#211–535P4 6($-%*8+- (-=+-/% > 40 000 ..

M786%9%(11( ,7%12-( $.%-8-:, .-( =+1:;82 186+01($-: (-+.+$->+11C< %B-

6+&%4 '$,+;1( /(=,+1$%7'+-$2 %< )(&++ 1%B/(4 9+1(4. D618/( $T+= 8>%86>%*8-+-

&2 $(,720+1 $ ,(-+72=% %B-B8 1+*(-(>1($-% $8=(&+-8 % $ %B6+70/8=% '$-81(>/%

B8,8$1(*( 6>%*8-+&2, .-(, 1+$(=1+11(, '>+&%.%- B8-78-C 8>%8/(=,81%4. M8/%= ()-

78B(=, =+1:;82 1878)(-/8 18 $T+= 1+ /(=,+1$%7'+-$2 1%B/(4 9+1(4 8*7+*8-8.

"7(=+ A-(*(, (-1($%-+&:1(+ /(1/'7+1-1(+ ,7+%='@+$->( (-+.+$->+11C<

6>%*8-+&+4 – 1%B/82 9+18 – > $/(7(= >7+=+1% =(0+- %$.+B1'-: %B-B8 B18.%-+&:-

1(*( $1%0+1%2 ()T+=(> ,7(%B>(6$->8 ,( ,7%.%1+ 7($-8 ,($-(211C< B8-78- 6>%-

*8-+&+$-7(%-+&:1C< ,7+6,7%2-%4 18 +6%1%9' ,7(6'/9%%. J&+6'+- ,7%1%=8-: >(

>1%=81%+ +@+ -(- G8/-, .-( > $>2B% $ '<'6;+1%+= ,(&(0+1%2 *780681$/(4 8>%8-

9%% >( >$+= =%7+, 18 >-(7%.1(= 7C1/+ ,(2>&2+-$2 >$+ )(&:;+ B87')+01(4 8>%8-

-+<1%/% IV ,(/(&+1%2, 7+8&%B'+=(4 ,( 6+=,%1*(>C= 9+18=.

F+7+<(6 3($$%% / 7C1(.1(=' -%,' <(B24$->(>81%2 $'@+$->+11( (*781%.%&

>(B=(01($-% ,72=(*( ',78>&+1%2 <(B24$->'?@%=% $')T+/-8=%, .-( ,(-7+)(>8&(

78B78)(-/% /8.+$->+11( 1(>C< =+<81%B=(> /(7,(78-%>1(*( ',78>&+1%2 (-78$-

&:? $ '.8$-%+= *($'687$->8. F( $'-%, '$,+;1C4 >C<(6 %B /7%B%$8 /(1/'7+1-(-

$,($()1($-%, > ,+7>'? (.+7+6:, B8>%$%- (- ,78>%&:1(*( 18)(78 G8/-(7(>, (,7+-

6+&2?@%< >(B=(01($-% (-+.+$->+11C< 6>%*8-+&+4 /(1/'7%7(>8-: 18 78>1C< '$-

&(>%2< $ B87')+01C=% 818&(*8=%.
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O+B'$&(>1(, 8>%89%(1182 ,7(=C;&+11($-: 78B>%-C< $-781 18/(,%&8 (*-

7(=1C4 (,C- 7+;+1%2 &?)C< (7*81%B89%(11(-A/(1(=%.+$/%< ,7()&+=, ()'-

$&(>&+11C< >&%21%+= 7C1(.1(*( =+<81%B=8. D618/( 1+()<(6%=( ()78-%-: >1%-

=81%+ 18 -(- G8/-, .-( ,7++=$->+11($-: 6811(*( (,C-8 (*781%.+18 > ,+7>'?

(.+7+6: -+=, .-( ,7+6,7%2-%2 G(7=%7(>8&%$: > 78B1C< A/(1(=%.+$/%< =(6+&2<,

/(-(7C+ %=+?- $>(? %1$-%-'9%(18&:1'? $,+9%G%/'. # .8$-1($-%, $'@+$->+118

78B1%98 > %$<(61C< A/(1(=%.+$/%< ,878=+-78< <(B24$->'?@%< $')T+/-(>, 8 ($-

1(>1C+ %1$-%-'-C 7C1/8 > 3($$%% 18<(62-$2 18 $-86%% G(7=%7(>81%2 (G(16(-

>C4 7C1(/, &%B%1*(>82 % $-78<(>82 $%$-+=8 % -.,.). 

M+16+19%% $(>7+=+11(4 A/(1(=%.+$/(4 $%$-+=C -8/(>C, .-( )(&++ >C$(-

/%4 '7(>+1: /(1/'7+1-($,($()1($-% ()+$,+.%>8+-$2 /8.+$->+11( 1(>C=% <878/-

-+7%$-%/8=% ,7(6'/-8 (%11(>89%2=%), 8 1+ '7(>1+= 6(<(68 % 1(7=(4 ,7%)C&%.

F(A-(=' $+*(612 ,+7+6 189%(18&:1(4 A/(1(=%/(4 % (-6+&:1C= ,7+6,7%2-%+=

($-7( >$-8+- ,7()&+=8 ,(%$/8 % ,7%=+1+1%2 -8/(*( (7*81%B89%(11(-

A/(1(=%.+$/(*( =+<81%B=8 $-78-+*%.+$/(*( ,&81%7(>81%2 % ',78>&+1%2, /(-(-

7C4 =(* )C $>2B8-: > (61' =(6+&: >$+ 8$,+/-C 6+2-+&:1($-% % ++ 7+B'&:-8-C.

D$1(>1(4 ,7%.%1(4 1%B/(4 /(1/'7+1-($,($()1($-% (-+.+$->+11(4 6>%*8-

-+&+$-7(%-+&:1(4 ,7(6'/9%% 2>&2+-$2 1+ $-(&:/( -+<1(&(*%.+$/82 (-$-8&($-:,

$/(&:/( 1+6($-8-/% > G(7=%7(>81%% (7*81%B89%(11(*( =+<81%B=8 ',78>&+1%2.

J,+9%G%.+$/%+ ($()+11($-% ,7(6'/9%% (-78$&% 8>%86>%*8-+&+$-7(+1%2, > .8$--

1($-% >C$(/82 6&%-+&:1($-: 0%B1+11(*( 9%/&8 6>%*8-+&2, 6(&01C 18/&86C>8-:

(,7+6+&+11C4 (-,+.8-(/ 18 >C)(7 (,-%=8&:1(4 (7*81%B89%(11(4 $-7'/-'7C

6811(4 )%B1+$-$7+6C. # A-(4 $>2B% ($-7( >$-8+- >(,7($ ( 1+()<(6%=($-% G(7=%-

7(>81%2 «(-78$&+>(*( 2678», (,%78?@+*($2 18 ()T+/-%>1C+ ($()+11($-% (-78$-

&+>(*( 7C1/8 % $&(0%>;'?$2 %1$-%-'9%(18&:1'? $7+6'.

S>%89%(11(+ 6>%*8-+&+$-7(+1%+ 2>&2+-$2 /&?.+>(4 (-78$&:? 8>%89%(1-

1(4 ,7(=C;&+11($-%, /(-(782 ()+$,+.%>8+- '$&(>%2 6&2 '$-(4.%>(*( 78B>%-%2

189%(18&:1(4 A/(1(=%/%. P+ B18.%=($-: > ,($&+61%+ *(6C $'@+$->+11( >(B7($-

&8: =(-(7($-7(+1%? > F+7=$/(= /78+, > $((->+-$->%% $ ,7(*78==(4 78B>%-%2

,7(=C;&+11($-%, (->(6%-$2 ($()(+ =+$-(. R-( $>2B81( 1+ -(&:/( $ -+=, .-( 681-

182 (-78$&: 2>&2+-$2 «267(=» -+<1(&(*%.+$/(4 $8=($-(2-+&:1($-% $-781C, 1(

% $ 1+()<(6%=($-:? 7+;+1%2 ()T+/-%>1C< ,7()&+=, -8/%< /8/:

− B8=+18 G%B%.+$/% %B1(;+11C< % =(78&:1( '$-87+>;%< ($1(>1C< G(1-

6(> ,7+6,7%2-%4;

− $(B681%+ (,+7+08?@+*( 18'.1(--+<1%.+$/(*( B86+&8 > 78=/8< 1+ -(&:/(

>$+4 (-78$&%, 1( % (-6+&:1C< B8>(6(>.

S18&%B $%-'89%% ',78>&+1%2 > 6>%*8-+&+$-7(+1%% ,(/8BC>8+-, .-(, 1+-

$=(-72 18 =1(0+$->( 7+;+1%4, ,7%1%=8+=C< (7*818=% >&8$-%, AGG+/-%>1C4

=+<81%B= *($'687$->+11(*( ',78>&+1%2 A-(4 $G+7(4 +@+ 1+ $(B681. E+$=(-72 18

)(&:;(+ /(&%.+$->( 1(7=8-%>1C< % $-78-+*%.+$/%< 6(/'=+1-(> (18,7%=+7,

«J-78-+*%2 78B>%-%2 8>%89%(11(4 ,7(=C;&+11($-% 18 ,+7%(6 6( 2015 *(68»),

,7%12-C< 18 78B&%.1C< '7(>12< > ()&8$-% 78B>%-%2 6>%*8-+&+$-7(+1%2 > $-781+,
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6%18=%/% > 78B>%-%% $+/-(78 1+ 18)&?68+-$2. F+7>82 ,7%.%18 $>2B818 $ (-$'-$--

>%+= $%$-+=1(*( %1$-%-'9%(18&:1(*( ,(6<(68 > B8/(18< % 1(7=8-%>1C< 8/-8<

/ $G+7+ 18'/(+=/(*( ,7(%B>(6$->8. #-(782 ,7%.%18 $>2B818 $ (-$'-$->%+= /((7-

6%189%% 6+4$->%4 9+1-78 % $')T+/-(> 5+6+789%%, )+$$%$-+=1($-: > 78)(-+ G+-

6+78&:1C< =%1%$-+7$-> % >+6(=$->.

D)+$,+.+1%+ >C>(68 (-+.+$->+11(*( 6>%*8-+&+$-7(+1%2 %B /7%B%$8 >%6%-$2

> (61(>7+=+11(4 7+8&%B89%% 6>'< >B8%=(6+4$->'?@%< 18,78>&+1%4. #(-,+7>C<,

A-( %=,(7- 6>%*8-+&+4 % (-6+&:1C< 8*7+*8-(> 7($$%4$/%=% /(=,81%2=% (> .8$--

1($-%, > H16%?, #+1+$'A&' % I8&84B%?). D618/( =+06'187(6182 /((,+789%2

$6+70%>8+-$2 %B-B8 (-$'-$->%2 18 ,7+6,7%2-%2< 1+()<(6%=(*( ()(7'6(>81%2,

/(-(7(+ '6(>&+->(72+- B87')+01C= -7+)(>81%2= ,( -(.1($-% % /8.+$->' ()78-

)(-/% 6+-8&+4. F($-8>/% 6>%*8-+&+4 6&2 781++ ,7(6811C< B8 *781%9' $8=(&+-(>

% >+7-(&+-(> +@+ 1+$/(&:/( &+- =(*'- $($-8>&2-: 6(&? B8*7'B/% =(-(7($-7(%-

-+&:1C< B8>(6(>.

#(->-(7C<, A-( 8/-%>182 *($'687$->+1182 ,(66+70/8 6811(*( $+/-(78 A/(-

1(=%/%. D$()+11($-:? $(>7+=+11(4 8>%89%% 2>&2?-$2 ,(>C;+11C+ -7+)(>81%2

/ 186+01($-% % )+B(,8$1($-% A/$,&'8-89%%, .-( ,7+6,(&8*8+- /(=,&+/$ 6(7(*(-

$-(2@%< 78)(-, $7(/% >C,(&1+1%2 /(-(7C< 6&2 6>%*8-+&+4 – 10–12 &+-. J '.+-(=

A-(*( >$+ $-781C (/8BC>8?- $'@+$->+11'? G%181$(>'?, -87%G1'?, B8/(1(68-

-+&:1'? % -.,. ,(66+70/' 8>%89%(11(4 ,7(=C;&+11($-%. E8,7%=+7, $(B681%+

/(1$(79%'=(= Airbus Industry $8=(&+-8 S-300 18 100 % G%181$%7(>8&($: ,78>%-

-+&:$->8=% $-781-,87-1+7(>, S-310 – 18 90 %, S-320, S-330 % S-340 – 18 75 % 

% 60 % $((->+-$->+11(.

F(,C-/8 3($$%% (/8B8-: ,(66+70/' ,7+6,7%2-%2= 8>%8$-7(+1%2 > '$&(>%-

2< (-$'-$->%2 9+&+18,78>&+11(4 ,7(-+/9%(1%$-$/(4 ,(&%-%/% *($'687$->8, 18-

,78>&+11(4 18 ,(66+7081%+ (-+.+$->+11(*( ,7(%B>(6%-+&2 % 1+,7+7C>1(4 7+(7-

*81%B89%% ',78>&+1%2 8>%8,7(=(=, ,7%>+&8 / /8-8$-7(G%.+$/(=' $1%0+1%?

,7(%B>(6$->+11C< =(@1($-+4 % ,7(%B>(6$->' 1+>($-7+)(>811(4 ,7(6'/9%%, 1+

(->+.8?@+4 9+&2= 6%>+7$%G%/89%% ,7(%B>(6$->8. # %-(*+, ()T+= ,7(%B>(6%=C<

6>%*8-+&+4 $1%B%&$2 > 3 78B8, ()T+=C (,C-1(-/(1$-7'/-(7$/%< 78)(- $1%B%&%$:

> $7+61+= > 10 78B, ,7(%B>(6$->+1182 =(@1($-: $($-8>&2+- 15–20 % (- >(B=(0-

1(4, 8 .%$&+11($-: 78)(.%< $1%B%&8$: ,78/-%.+$/% > 2 78B8.

"7(=+ A-(*(, (-$'-$->%+ G%181$(>(4 ,(66+70/% $6+&8&( ,78/-%.+$/% 1+-

>(B=(01C= 7+8&%B89%? 78B78)(-811C< ,7(*78== 78B>%-%2 6811(*( $+/-(78 A/(-

1(=%/%, 8 =+<81%B= *($'687$->+11(4 ,(66+70/%, A/$,+7-%BC % ',78>&+1%2 7+8-

&%B89%+4 A-%< ,7(*78== -8/ % 1+ )C& $(B681.

J+*(612 1+()<(6%=( ()T+6%1+1%+ '$%&%4 *($'687$->8, 18'.1(*( $(()@+-

$->8 % (-+.+$->+11(*( )%B1+$8 ,7% (61(>7+=+11(= 8/-%>1(= ><(06+1%% 7($$%4-

$/(*( 6>%*8-+&+$-7(+1%2 > =+06'187(61'? /((,+789%?. F7+6&8*8+=82 > 78=/8<

A-(*( 18,78>&+1%2 =(6+&: 78B>%-%2 ($1(>818 18 ,7%19%,8< -+$1(*( >B8%=(6+4-

$->%2 *($'687$->8, >'B(>, %$$&+6(>8-+&:$/%< % /(1$-7'/-(7$/%< )?7( % .8$-1(*(

)%B1+$8. E+()<(6%= -8/(4 (7*81%B89%(11(-A/(1(=%.+$/%4 =+<81%B=, /(-(7C4
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,(B>(&%- AGG+/-%>1( $(.+-8-: *($'687$->+11C+ >(B=(01($-% /(19+1-789%% 7+-

$'7$(> 18 1+()<(6%=C< 18,78>&+1%2< % %1-+7+$ .8$-1C< $()$->+11%/(> > (-1(-

;+1%% /(1+.1C< 7+B'&:-8-(> )%B1+$8.

F7+6&8*8+=82 $%$-+=8 ',78>&+1%2 6>%*8-+&+$-7(%-+&:1(4 (-78$&:? >/&?-

.8+- > $+)2 /(7,(78-%>1(+ B>+1(, B>+1( *($'687$->+11(*( ',78>&+1%2, 7+8&%B'?-

@++ G'1/9%% *($'687$->+11(*( B8/8B.%/8 % $()$->+11%/8 *($'687$->+11C< 8/-%-

>(>, % 18'.1(+ B>+1(, /8/ ($1(>1(4 ,7(%B>(6%-+&: %11(>89%4. D$1(>182 9+&: $%$-

-+=C $($-(%- > $(B681%% /(1/'7+1-($,($()1(*( 7+*%(18&:1(*( ,7(=C;&+11(*(

/(=,&+/$8 8>%89%(11(*( 6>%*8-+&+$-7(+1%2, /(-(7C4 >,($&+6$->%% $=(0+- &%/-

>%6%7(>8-: (&%*(,(&%$-%.+$/%4 >1'-7+11%4 7C1(/ % /(1/'7+19%? B8 7C1/% $)C-

-8 % *($'687$->+11C+ 7+$'7$C, 18,78>&2+=C+ 18 EHD"3, B8/',/% % -+<1%.+$/(+

,+7+>((7'0+1%+ ,7+6,7%2-%4. J(B681%+ -8/(*( 7(68 %1-+*7%7(>811(4 $-7'/-'7C

,(B>(&2+- 6+&+*%7(>8-: +4 G'1/9%% <(B24$->+11(*( ',78>&+1%2 % 789%(18&%B%7(-

>8-: G'1/9%% *($'687$->+11C< (7*81(>, '$%&%> %< 1(7=8-%>1(+ % 7+*'&%7'?@++

>&%21%+ 18 (-78$&:. "(19+,-'8&:182 =(6+&: (7*81%B89%(11(-A/(1(=%.+$/(*( =+-

<81%B=8, ($1(>811(*( 18 -8/(4 ,7%(7%-+-1($-%, ,7+6$-8>&+18 18 7%$. 3. 

O&7&!"'(."6 

3!*49B'&.."6 

3*'$%$0"

<0"7&4$6 .",0, #,H

P"7"-" – !"H!"=*%0" 

$..*#"?$1

:$";.*)%$0" 

3!*49B'&..*;* 

3*%&.?$"'"  5
 !"#$%&'()%#* KO

J&.7&.?$$ 

+J 

K&;$*."'(."6 

3!*49B'&.."6 

3*'$%$0"

Q&'( – !*)% 

7*="#'&..*1 

)%*$4*)%$ 

!&;$*."

 !&73!$6%$&

P"7"-" – 

0*44&!?$"'$H"?$6 

$..*#"?$1

 !"#$%&'()%#* 

 &!4)0*;* 0!"6

3%$. 3. I(6+&: >B8%=(6+4$->%2 >$+< 8*+1-(> 78B>%-%2 > F+7=$/(= /78+

!+2-+&:1($-: 7+*%(18&:1(*( 6>%*8-+&+$-7(%-+&:1(*( /(=,&+/$8 ($'@+$->-

&2+-$2 18 ($1(>+ $(*&8$(>81%2 >$+< '.8$-1%/(> ,7(9+$$8 $ %1-+7+$8=% 7+*%(-

18&:1(4 >&8$-%, /(-(7C+ 7+8&%B'?-$2 .+7+B ,7%1%=8+=C+ 1(7=8-%>1(-,78>(>C+

8/-C % B8/(1C, ,7%12-C+ 18 ($1(>+ $()&?6+1%2 %1-+7+$(> 9+&+>C< <(B24$->'?-

@%< $')T+/-(> > 7+*%(1+.
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38B78)(-81182 =(6+&: %=++- >C$(/'? $-+,+1: 868,-%>1($-% % =(0+- )C-:

'$,+;1( 7+8&%B(>818 > ',78>&+1%% %1>+$-%9%(11(-%11(>89%(11C=% ,7(9+$$8-

=% > ,7(=C;&+11($-% > $($-8>+ G+6+78&:1C< % 7+*%(18&:1C< $-78-+*%.+$/%<

,7(*78==.

!($-%0+1%+ AGG+/-%>1(*( G'1/9%(1%7(>81%2 18 ($1(>+ $(*&8$(>81%2 >$+<

%1-+7+$(> -7+)'+- 86+/>8-1(*( ',78>&+1%2 $( $-(7(1C ,78>%-+&:$->8 F+7=$/(*(

/782 > >%6+ /((76%1%7(>81%2 6+4$->%4 >$+< 8*+1-(> % /(1-7(&2 B8 6($-%0+1%+=

,($-8>&+11C< 9+&+4. !81182 =(6+&: $ >C<(6(= 18 G(7=%7(>81%+ ($1(>1C< AG-

G+/-(>, ()'$&(>&%>8?@%< 78B>%-%+ F+7=$/(*( /782, ,7%>+6+18 18 7%$. 4. F7+6-

$-8>&+1182 18 $<+=+ =(6+&: ,7+6,(&8*8+- '.8$-%+ >$+4 %1G78$-7'/-'7C $ >C<(6(=

18 7+;+1%+ B868. 7($-8 6()8>&+11(4 $-(%=($-%, '&'.;+1%+ $(9%8&:1(-

A/(1(=%.+$/(*( /&%=8-8, .-( $,($()$->'+- ,7%-(/' %1>+$-%9%4 > 7+*%(1.

3%$. 4. 5(7=%7(>81%+ AGG+/-(> (- 7+8&%B89%% (7*81%B89%(11(-A/(1(=%.+$/(*(

=+<81%B=8 >B8%=($>2B% )%B1+$8, *($'687$->8 % 18'.1(*( $(()@+$->8 > F+7=$/(= /78+

D0%68+=C4 7+B'&:-8- (- 7+8&%B89%% ,7+6&(0+11(*( (7*81%B89%(11(-

A/(1(=%.+$/(*( =+<81%B=8 B8/&?.8+-$2 > ,7%19%,%8&:1(= %B=+1+1%% $-78-+*%-

.+$/(4 /(1/'7+1-1(4 ,(B%9%% 6>%*8-+&+$-7(+1%2 3($$%% 18 =%7(>(= 7C1/+,

G8/-%.+$/(+ >(B>78@+1%+ (-78$&% 18 A-(- *&()8&:1C4 7C1(/ > /8.+$->+ (61(*(

%B =%7(>C< 9+1-7(> 8>%89%(11(*( =(-(7($-7(+1%2. !($-%0+1%+ -8/(*( 7+B'&:-
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-8-8 18 ($-7( /(1/'7+1-1(=, (&%*(,(&%$-%.+$/(=, ,(&%-%B%7(>811(= % 0+$-/(

7+*'&%7'+=(= 1(7=8=%, ,7%1%=8+=C=% =+06'187(61C=% % 189%(18&:1C=% (7-

*81%B89%2=% (#MD, H"SD, FAA % 67.), 7C1/+ 8>%89%(11(4 ,7(6'/9%% -7+)'+-

/8/ >C6>%0+1%2 18 7C1(/ $(>+7;+11( 1(>C< /(1/'7+1-($,($()1C< 6>%*8-+&+4,

-8/ % ,7(>+6+1%2 =87/+-%1*(>(4 ,(&%-%/% /8.+$->+11( 1(>(*( '7(>12.

 !"#$% &"'()*'+),
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The paper analyzes changes in organizational and economic mechanism for 

controlling scientific-technical development of aircraft engine industry in Russia 

during the transition to market environment of the sector as well as investigates 
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